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1. Use the information that

write down the value of

(a) 0.58 x 3.18

(b) 18.444 + 0.0318

2. Use the information that

write down the value of

(a) 0.54 x 4.23

(b) 2284.2 + 0.54

58 x 31.8 = 1844.4

5.4 x 42.3 = 228.42
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1. Use the information that

write down the value of

(a) 0.58 x 3.18

(b) 18.444 = 0.0318

2. Use the information that

write down the value of

(a) 0.54 x 4.23

(b) 2284.2 + 0.54

o8 x 31.8 =1844.4

0.4 x 42.3 = 228.42
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3. Use the information that

write down the value of

(a) 580 x 6.3

(b) 36.54 + 58

4. Use the information that

write down the value of

(a) 8720 x 610

(b) 531.92 = 0.61

3. Use the information that

write down the value of

(a) 580 x 6.3

(b) 36.54 =+ 58

4. Use the information that

write down the value of

(a) 8720 x 610

(b) 531.92 = 0.61

5.8 X 63 = 365.4

87.2 x 61 = 5319.2

5.8 X 63 = 365.4

87.2 x 61 = 5319.2
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